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[7-1] 000000

0000000 Ly LyL, O, L, := yp. —2p, 00000000 (000 [2,p.] =
ihly,p:] =000. 0000, [x,p;] = ihdij, [zi,z5] = [pi,ps] = 0). OODO M, My, M,
0L,=aM,0000000.

1. 000 M, O hermite D0 ODO0O00OOOOOO.
Hint. z,y, 2, p.,py,p- 0 hermite 00 000000000000,
2.000 [M,,M,]O00D00.

3.000 M?>:=M2+M>+M2000. 000 [M*M]00000.000000,
M?0 M, 0000000000000000.

Hint. M,,M,, M, M* 0000000000000 00CD. 0D00DDOOOOO.

[7-2] OOOOOOOOOOOO

1. My :=M,+iM, (0000)00000. 000 [Myg, M?],[My, M.],[My, M_] O
ooo.

Hint. M,, M, M. 0000000000000000. 000000000.
Hint. 0 M*>=YM,M_+M_M,)+M?0000000000000000.
2. M2, M, 00000000 ¢;,,000.000,0000,

(1) M = G+ Dtjm,
(2) Mzwjm = m¢jm‘
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goo. 0

(3) M:I:1/ij X %’ m=+1
ooo.

Hint. 0O0O00OO0O0ODOO0ODOOOOODODOODOOO.

Remark. OO0 OOOOOOOOO

(4) Mty =G Fm)GEm+1) $j e

DDD.DDDDDDD,MJTF:M_DDDDDD.

[7-3] DOOO
000

(5) x = rsinfsing
(6) y = rsinfcos¢
(7) 2z = rcosb
goo.
000 M, M200000000 ¢;_;(r,0,¢) 0000. 00000, ¢;_,(r,0,¢) =

R(r)Y; _;(A,¢) 0000000000 Y;_;(4,¢) 00000000.00,0000000
00000000000000.

1.Y; ;00,¢)0 0 o 00000000000, ¢-0000, MY,_,=—5Y;_;, 00
ooag.
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Hint. MZ——Z%.

220400 My,_;,=0000.000000Y,;060000000.000,
My 0O
, 0
My = et (:l:(%%—icot@;b)

gbooboogobboooooon.

3. Y; 05)(8,¢) D0DD.
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